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Here is where he said; half — half — SX77 9X1T ART N7

OVERVIEW

The X773 is attempting to reconcile two contradictory nin»72 regarding one who
delivered all his assets to his two slaves.' The &n12 which states that the slaves
acquire the assets is where he wrote over the entire assets to both slaves, and the
Xn>72 which states that they do not acquire the assets is where he wrote X7 “xr.
There is a dispute between *"w2 and Mo01N as to the meaning of X >X7.
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>'"'w9 explained that °X17 °¥1 means that he wrote in one "vw, ‘half of my assets

are yours’, and he wrote the same thing in the second 7vW to the other 72V -
- 59999 NN $1119999075 A9 NI KAYD 10 RYTT 13D NY *HNX H23 101 1959N)

So even if he delivered both MY simultaneously to both 2°72y, they do not
acquire his assets, for perhaps it is the same half of his assets that he wrote to
both of his slaves, so there is a remainder, and therefore they are not 7y —

mMooIn asks on >"wA:
= 90V Y91Y ¥RYUN 09 Ys 9INPT NDT SNV 12%24Y Y

And the w''1 has a difficulty with this explanation, for since the Xn>92 of *¥17 °¥n7
states 72y 179971 11797 11Nl o231 92", this indicates that it was explicit in the

o -
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That the half which he gave to this slave he did not give to the other slave, but

rather he gave all his assets to both slaves, so how can >"v state that he meant the same
half, how would that fit with the expression 031 »5?!

Another question on *"w15:
=137 9990 9N NPT ¥IYN 8N 9IND 1910 99N 192 1D91)9TH TV

And additionally since the X3 differentiates whether he said Y12 (where the

! This reconciliation is assuming that both min»12 follow the view of the 1127 that 73p X2 172 X0 Ynwss.

2.

? See 2m27 71"7 *"wA that he was 791 through a m%w both MIvw to both 2>72y simultaneously.

* He gave both slaves the same half of his assets (part A) but he gave none of them his other half (part B).

5 He only freed one half of each slave and the 1127 maintain that one cannot free half-a-slave (see footnote # 1). It
seems from "w1 if we would be certain that each slave received a different half, then it would be effective if he was
101 both n1vw simultaneously, for then each slave would be freed completely at the same time (one half is freed
from the 70w he received and his other half is freed with the 20w the other slave received).
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72y are 71P) or whether he said >3n (where they are not 7112), this indicates

that the o°72y are 727 only if he said 1> -
- S13p XY 951 19%9N Y91 NN DAIYY 1IN TN I8N XYY W9 199N 18N YaN

But if he said '»xn', even if he specified that he is not giving them both the
same half, but rather he is giving them everything, nevertheless they are not

7132, but according to >"w1 if he gave them everything nnX n22 even if he said "¢ they would be
P!

mooIn offers his interpretation:
= (3,097 PYYTIPT NIV P92 7159 1R NINYLY NAYT HNAY 129295 AN

And it is the view of the w''= that *x17 X7 is never 1P even if he explicitly gave it

all away, for 721 follows his reasoning in the second p9» of w75 N0~ -
= 9ON NN N2 199N N1 9NN N PPRY 99 (3,3 pary) ININININY 993)

And in the ¥1IN°xy7w %% P75 that anything which is not effective when it occurs

consecutively, it is not effective even when it occurs simultaneously -
- 59997 199 NP NY AT IR N1

And by °xn11 if it were done consecutively, the 272y would not be 7132, since he
left over part of the 72y, so therefore they will not be 1P even X"22 —

mooIn responds to an anticipated difficulty:
- AN PYN 19 DR DT ANK A2 1N BNNT PPN 9999 PN 9INIYY 9197 NY)

And this case of *¥r7 is not similar to a case where he freed half the slave and
sold half the slave X'"22 where it is effective; because there it would be effective

1''mN 72 if he first sold half the slave and then freed the other half, so he is not 7*w» in the
1w, however here by *¥11 °¥17 it can never take effect 1"1X 712 therefore it cannot take effect by
X"2.

% The way in which the xn3 distinguishes between the two nin™92, that it depends whether he said Y213 or >3 *xm,
indicates that > is never AP, only 1713 is Anp, for if there is a case where %717 is also 7P the X773 should have been
more clear and differentiate whether he gave away everything or not. The fact that the X713 differentiates between
1713 and *xn tells us that *¥11 is never p even if he gives it all away; not like >"w (in footnote # 5)

" The mawn there states that if one is Wpn two sisters NAR N33, neither of them is NWTPn, because as 727 stated 93
1K X'"22 "5 11X 712 PRW. Once he is W7pn one sister he cannot be w7pn the other, therefore even X"212 they are not
mwnpn.

¥ All agree (according to the 7327) that if he would first give half his assets to one 72y (and then the other half to the
other 72¥) that they would not be 7139, for he only freed half the 72y; he was 7wn the other half, so therefore since it
is not effective 1"nR 1712, therefore it is not effective even X'"22.

? Seemingly there too if he would first free half and then sell the other half it would not be effective, since he only
freed half so he is 7wn, we should therefore say since it is not effective 7"nX 713, it should not be effective even
X'"22.
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NN asks:
= NN Naa ’)‘,7’5 NY 1933 1999 99N 95 )2 ONY IWITaY nYP NN

And there is a slight difficulty with the explanation of the v", for if indeed it
is so that since it is not effective 1"'1nX 1772 it is not effective even X'"22, so even if he

said '"Y»12' it should also not be effective even X''23 -
= HIYVTIPN 1INT HPNN NV YTPN2 190 NP NY 2 N 9NN NaT 2]

Since by 1''nX 712 the second 72v will not acquire anything, so it should be like

one who is w7Pn two sisters that both are not RT3 -
- %9593 PWITH 09N KY NT NN AT

Since in a case where he was w7p»n them 1''nR 7112 the 1PR17T» does not take effect
by the second one, the same should be here that since if he gave them his assets 1"nX 7712 the

second one receives nothing so (even) if he gave it to both of them X"22 neither should receive
anything!

mooIn explains why the rule of 21 PR 93 does not apply everywhere:
= DINDM YN NN YN PYNINY R RINX NT ANN N2 IPNRY DD 7Y KD INTI NON

Rather the rule of 1''nN ;712 8w 92 is certainly not applicable unless the first act

prevents the second act from taking effect -
= 1193V SVYPP DINDNM NIYNRIN SYITID DIYINIY NPNHN SNV M5

As it is by the case of the two sisters that the 127>p of the first sister prevents

the w752 of the second sister from taking effect

- PY SN NYT 0IVN INY AT NN N2 IV 2P XYY NN XD YaN
However here by the 72y this that the second 72y cannot acquire the assets
where it was 7T 978 712 is not because the second 72V is not fit to acquire the
assets (as it is by the second sister who is now not fit to be nwTPn to her sister’s husband because

of her sister) -
= 0195 1927 PR 1NN PHNDI 9357 DIVN NN

Rather the reason the second 72¥ is not 1P is because the grantor has already

been removed from his assets and he owns nothing of them anymore; he has nothing

what to give. The case of the two 072V -
= 1351 Y 123903 D) /R D5Y AN DYDY 19D U 1IN NINT 21N

Is similar to a case where one gives his assets to two people and wrote to each

10 By pu7p if he was first w7pn one sister, she is NwTpn, and then if he is w7pn the other sister there is no PYITP
and therefore we rule that if he was wTp» both together there is no Pwp at all (since 7K X"22 "X 11X 712 PRY 92),
the same should apply by the 72y, if he first gave all his assets to one 72y and later gave it to the other 72y, the
second 72y has nothing, so it should follow that if he gave it to both X"23, neither should become free because of the
same rule that PR X"22 “oX 1"nX1a PRY 25! Our MDOIN is saying that this rule of 151 PRW 95 cannot be applied
universally. See “Thinking it over’.
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of them my assets are given to you as a gift -
- 1950930 Y5 1997 HNX N2a 119 NN

And he was 775t it to them R''22 that they both acquire all the assets equally -
:UPNNR 0NN TMINTI PRINY NONIRI PINY NN 1A MHNTY PN

For we cannot compare money which can be separated and divided, as the
X922 states there concerning wyn.

SUMMARY

"w7 maintains that the reason they are not 7132 by X1 is because it may be the
same °Xn. According to the w"7 they are not 7132 even if it is a different *¥m, since
TR X"22 "X 1"nX 712 PRY 22, The difficulty with this is why are they 713 by 1710.
There is a need to differentiate between P¥17°P and 1% which is divisible.

THINKING IT OVER

According to the 'mwp n¥p',"” what would be the ruling by *n1 *¥n where it was
made clear that between the two of them they acquire everything, are they 7117 or
not?'*

'We do not say here X"2211°K 1"1RT2 PRW 2.

"2 %,X1. The X3 there differentiates that by 2w¥n if instead of giving a tenth he gave a fifth (2/10) X"23, the rule is
that the n17°0 are 1P (they can be eaten) but the wvn is 2p9pn for only one tenth is 2wyn but not the other tenth
(but we do not know which part of the fifth is 2wyn and which remains 22v). However we do not say that since if he
would give first one tenth and then later a second tenth where the rule would be that there is no Twyn aw on the
second tenth (it is not 7"1X 7772) so even if he gave both tenths X"213, it should not be 7wyn at all. The difference is that
by "wyn (and similarly by money matters) we can separate and divide by saying half is "wy» and half not, but when
one is Wpn two women we cannot say that half of the woman is nw71p» and not the other half; there is no such thing
as a half woman being nwTIPn.

" See footnote # 10.

'* Can we say that even though that by *¥r1 *¥n they are not 71y (even if he gave all his assets to both of them [half to
each]) because there, neither can be 11X 7712 7112, however by 1913 since the first one can be n11p if it is 1"nX 773, and
it is 1n (which is P91 9waR) we do not say 11X 822 “5BR 1"'1RTA PRY 737

4
TosfosInEnglish.com



